This book has permission to use the “N&K method of CO.ORS”.

7) Question: For the seven countries listed below, the bars show the number of cars. If the total number of cars is
340 million, what should the words, “Axis Title” be replaced by, to accurately reflect the data on the graph.

A) NUMBER OF CARS (in 10,000s)

B) NUMBER OF CARS (in 100,000s)

C] NUMBER OF CARS (in 1]000’0005] NUMBER OF CARS IN COUNTRIES: P, Q,R,S5, TU&V

D) NUMBER OF CARS (in 10,000,000s)

COUNTRIES
w1

Axis Title

For speed, while solving something similar, only THINK the words in blue; WRITE only the words in other CO/.ORS.

Solution:
Given: 1) For the seven countries listed below, the bars show the number of cars.
2) The total number of cars is 340 million
Solve: What should the words, “Axis Title” be replaced by, to accurately reflect the data on the graph?

Road Map of Solution: R .
First  Step: Write down the different countries in one column. COUMNTRIES CARS
Second Step: Write down the respective number of cars in each country.

P 10
Third Step: Add up the cars column. The total for the cars column is 340. a 20
Fourth Step: Compare the Given Second statement with the total for the cars column. R =0
On comparing, we see 5 60
Given Second Statement compares with  Total number for cars column T 70
Total number of cars is 340 million compares with 340 u 25
v 45

Therefore, the “Axis Title” should be NUMBER OF CARS (in Total 240

the “Axis Title” should be NUMBER OF CARS (in Answer (C)
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